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Reward Risk Ratio(RRR)

Reward to risk ratio (RRR) is the amount of profit you will
make on a trade vs the amount you could potentially lose.

If you enter a trade with a 2:1 RRR with a stoploss value of
$100, your potential profit is $200.

When you combine the RRR with the rule of risking max 1-3%
of total trading capital per trade, you can easily calculate the
minimum required win rate to be profitable.

It is recommended that a minimum 2:1 RRR is used for all
trades. This means you only need to have 1in 3 trades right to
break even.
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The Higher the RRR, The Lower
your win rate needs to be

YOUR HISTORICAL WIN RATE

25%
33%
%0%

50%
60%
75%

MINUMUM REWARD:RISK RATIO
3:1
-
2:]
-
15:1
1:1
-




Risk Management




Copyright © 2021 The Crypto Den. All Rights Reserved 6



Bitcoin / TetherUS ) - BINANCE 700.00
ol Lem £ 260.99 (18.53%) 1.78 —;66969

1650.00
Take profit,Entry and / 1600.00

Stoploss is all shown 1550.00

on chart price bar
1500.00

\ 1450.00
1296.50 ~ 0 1408.70

1350.00

1321.56
87.14 (6.19%) 0.74 1300.00

Standard view Long Position Compact view Standard View Short Position Compact Position

Target: 1000.00 (100.00%) 100000, Amount: 2 1000.00 (100.00%) 1020 Stop: 500.00 (33.33%) 50000, Amount: 990 500.00 (33.33%) 990

N a

Take profit percentage Open P&L: —35182.64, Qty: 0.02 ~35162.64 ~ 0.02}

for the trade Risk/Reward Ratio: 2

Open P&L: 35284.86, Qty: 0.001 ; 35284.86 ~ 0.02

Stop: 500.00 (50,00%) 50000, Amount: 0.5 500.00 (50.00%) 990

Target: 1000.00 (66.67%) 100000, Amount: 1020 1000.00 (66.67%) 1020
i
ThelruntcNen

Stoploss percentage for the trade

Copyright © 2021 The Crypto Den. All Rights Reserved




Copyright © 2021 The Crypto Den. All Rights Reserved 8



Risk Management




The Higher the RRR, The Lower
your win rate needs to be
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Trade size example

You have a $10,000 trading account and are willing to
risk 1% per trade. 1% = $100

You have the following trade setup:

Stoploss = 7%

Trade size calculation - 7% = $100
Unleveraged trade size = $100/7% = $1428.57
5x trade size = $1428.57/5 = $285.71
10X trade size =$ 1428.57/10 = $142.86
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The Higher the RRR, The Lower
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